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Guess Paper – 2010

Class – XII

Subject – Computer Science

Time allowed : 3 hours







Maximum marks : 70

	Instructions :

i) All the questions are compulsory .

ii) Programming Language  : C++ .
iii) Write down the serial number of the question before attempting it.
iv) Leave 4-5 line gaps before starting a new answer.


	1.
	a) What do you mean by typedef command? Explain it with suitable example.
	2

	
	b) Name the header files of the following library functions :
               i) abs( )                ii) setw( )
	1

	
	c) Rewrite the following program after removing all the syntactical errors underlining each correction. (if any) : 

include<iostream.h>

                                             class 
{ int P;

float Q;

char str[];

public:

retP( ) { return P; }

char retstr( ) { return str; }

void INPUT

{ cin>>P>>Q;

gets(str); }

void OUTPUT( )

{ cout<<P<<Q<<str<<endl; }

}obj
	2

	
	d) Give the output of the following program ( Assuming that all required header files are  included in the program )
:










                  struct score
                  { int yr;

                    float topscore; };

                            void Modify(score *a, int b=50)

                               { a->topscore=(a->topscore+50) – b;

                                  ++(a->yr); }

                          void main( )

                            { score A[2] = { {2008, 500}, { 2009, 385}};
                                score *p = A;

                                   Modify(p,100);

                                     cout<<A[0].yr<<’@’<<A[0].topscore<<endl;

                                       Modify(++p);

                                            cout<<p->yr<<’%’<<p->topscore<<endl; }           
	3

	
	e) Give the output of the following program ( Assuming that all required header files are  included in the program )
: 

                      int a=40;

                      void PASS(int &x, int y, int &z)

                      { int a=5;
                          z+=a;

                           x*=::a;

                            y+=z; }

                                        void main( )

                                         { int a=30, b=20;

                                            PASS(b,::a,a);

                                              cout<<a<<”-”<<b<<”-“<<::a<<endl;

                                                 PASS(::a,a,b);

                                               cout<<a<<”-”<<b<<”-“<<::a<<endl; }
	2

	
	f) In the following program, what is the expected value of yourscore from options (i) to (iv) given below. Justify your answer .
#include<iostream.h>

#include<stdlib.h>

void main( )

{ randomize( );

int score[ ] = { 15, 35, 34, 65, 27, 36}, yourscore;

yourscore=score[3+random(3)];
cout<<yourscore<<endl; }

i) 27
ii) 15
iii) 34
iv) none of the above
	2

	
	
	

	2.
	a) What is this pointer? Explain it with example.
	2

	· 
	b) Answer the questions (i) and (ii) after going through the following class :
    class ATTENDANCE
    { private:

     char CL[20];

     int absent,present;

      public:

      ATTENDANCE( )                                                     //function 1

     { strcpy(CL,”Blank”);

        present=0;
        absent=0;  }

      void SHOW( )                                                            //function 2

      { cout<<CL<<endl<<present<<absent<<endl; }

       ATTENDANCE(ATTENDANCE &a);                   // function 3
       ~ATTENDANCE( ){        }                                      // function 4

     };

i) In OOP, when will function 1 & function 4 be called?
ii)         Write the definition of function 3.
	2

	
	c) Define a class  REGFLAT in C++ with following description :
Private members :

a. registration number of type integer (range 200-500)
b. Name of type string

c. Flat type string
d. Cost of type float
Public members :

· A function INFLAT( ) to read an object of REGFLAT type
· A function OUTFLAT( ) to allow user to view the content of all the data members.

· A function DRAW( ) to choose & display the details of 5 houses selected randomly from an array of 10 objects of type REGFLAT passed as arguments to the function. Use random function to generate the registration numbers to match with registration number from the array.
	4

	
	d) Answer the questions (i) to (iv) based on the following :


class CLOTH
{ private :
           char category [10],description[30]; 
protected :

float pr;
 public:

CLOTH( ) { };
      void CREAD( );
      void CWRITE( ); };
class DESIGN: protected CLOTH
{    char design[22];

protected:

        float costofcloth;
public:

int dcode;
      DESIGN( ) {    };
      void INDESIGN ( );
      void OUTDESIGN( ); };
      class COSTING : public DESIGN
      { private:
long double dfee, stitching;

float calcp( );

         protected:

double costpr, sellpr;

      public:
             COSTING( ){     };

void INCOST( );
             void OUTCOST( ); };
i) Write the names of data members that are accessible by an object of DESIGN class.


ii) Name the data members which can be accessed by the objects of COSTING class.

iii) Name the members that can be accessed by  the function of DESIGN class.

    iv)        How many bytes will be occupied by an object of class COSTING ?

	4

	
	
	

	3.
	a) Write a function to insert a data element in a single dimensional array having N numbers in descending order. The function must have arguments as array, its size and data to be inserted.
	3

	
	b) An array S[20][30] is stored in the memory along the column with each of the elements occupying 8 bytes. Find out the memory location for the element S[3][12], if the element S[9][20] is stored at memory location 1000.
	3

	
	c) Write a function to add an element to a dynamically allocated QUEUE . The structure of each node is given below :
                 struct NODE

                { char ecode[10], ename[25];

                    float salary;

                    NODE *next; };
	4

	
	d) Write a function in C++ to swap column elements of a two dimensional integer array. 0th column with (n-1)th column, 1st column with (n-2)nd column and so on. The array and sizes are passed as the arguments to the function.
Ex. If the two dimensional array contains :                                              

2

4

10

48

4

5

20

55

6

3

30

45

10

65

23

31

The array after swapping is as follows :

 48

10

4

2

55

20

5

4

45

30

3

6

31

23

65

10


	2 

	
	e) Evaluate the following postfix notation of expression  :
                                            45, 9, 6, +, /, 21, +, 6, *
	2

	
	
	

	4.
	a) Observe the program segment given below carefully, and answer the question that follows :
#include<fstream.h>

class LAB
{ int expno;

char expr[30], checked;

float marks;

public:

void EnterExp( );     //function to enter experiment details
void ShowExp( );    //function to display Experiment details

char RChecked( ) { return checked; }    //function to return checked
void AssignM(int M) //function to assign Marks

{ marks=M; }  };

void Modimarks( )
{ fstream inout(“Marks.dat”,ios::binary|ios::out||ios::in);

LAB ob;
int Rec=0;

while(inout.read((char*)&ob,sizeof(ob)))

{ if(ob.RChecked( )==’N’)

ob.AssignM(0);

else

ob.AssignM(10);

____________________  //statement1

____________________  //statement2

Rec++; } inout.close( ); }

If the function Modimarks( ) is supposed to modify Marks for the records in the file Marks.dat based on their status of the member Checked (containing value either ‘Y’ or ‘N’). Write statements for statement1 to position the file write pointer to an appropriate place in the file and statement2 to perform the write operation with the modified record. 
	1

	
	b) Write a function to count and print the number of independent word ‘is’ stored in a text file “NOVEL.TXT”.
	2

	
	c) Given  a binary file SPORTS.DAT, containing records of the following structure type :
    struct sports

    { char event[25];

      int noofpart;

     float prizemoney; };

Write a function that would read contents from the file and creates a file named KHOKHO.DAT copying only those records from SPORTS.DAT where the event name is “Kho-Kho”.
	3

	
	
	

	5.
	a) What do you mean by key ? Write the difference between Alternate & Candidate Keys.
	2

	
	b) Consider the following table DRESS and MATERIAL. Write SQL commands for the statements (i) to (iv) and give outputs for SQL queries (v) to (viii). Table : DRESS
DCODE

DESCR

PRICE

MCODE

LAUNCHDATE

101

Shirt

515

M004

12-Jan-2008

120

Formal Shirt

1213

M001

09-Sep-2007
112

Frock

450

M002

06-Jun-2008
119

Evening Gown

650

M003

15-Jul-2009
189

Slacks

340

M002

09-Jan-2008
107

Jeans

770

M001

15-Sep-2009
124

Jacket

2050

M003

25-Mar-2009
109

Fancy Top

350

M004

31-Dec-2007

	

	
	Table : MATERIAL
MCODE

TYPE
M001
Cotton
M002
Silk
M003
Polyester
M004
Woolen

	

	
	(i)   to display all information of table DRESS in descending order of PRICE that were launched before 2009.
	1

	
	(ii)  to display dresses detail that prices go beyond 1000 and have been launched between 2007-2008
	1

	
	(iii) to modify the schema of table dress by adding an extra attribute namely QTY as integer type.
	1

	
	(iv) Display material wise highest and lowest price of dresses from DRESS table. (Display MCODE of each dress along with highest and lowest price)
	1

	
	(v)  SELECT SUM(PRICE)FROM DRESS WHERE MCODE=1 OR MCODE=3;
	½

	
	(vi) SELECT DESCR, TYPE  FROM DRESS D, MATERIAL M WHERE D.DCODE=M.MCODE AND PRICE <=750;
	½

	
	(vii) SELECT AVG(PRICE) FROM DRESS WHERE MCODE IN(2,4);
	½

	
	(viii) SELECT COUNT(DISTINCT MCODE) FROM DRESS ;
	½

	
	
	

	6.
	a) State and verify absorption  law in Boolean algebra.
	2

	
	b) Write an equivalent Sum of Products for the following Product of Sums expression :-
     F(A,B,C) = ∏ (1,2,5,6)
	2

	
	c) Draw the circuit diagram for the following expression :
      PQ’ + P’Q
	1

	
	d) Reduce the following Boolean Expression using K-Map  :

     F(U,V,W,X) = ∏ (0,1,3,4,7,8,11,12,15)
	3

	
	
	

	7.
	a) What is intranet ?
	1

	
	b) Expand the following terminologies :
                        i) ISDN                         ii) WLL
	1

	
	c) Differentiate between message & packet switching.
	1

	
	d) What is firewall?
	1

	
	e) What do you mean by open source software?
	1

	
	f) What is Web hosing?
	1

	
	g) Skyline Fashion Technology is planning to expand their network in India, starting with two cities in India to provide infrastructure for distribution of their product. The company has planned to set up  their main office units in KOLKATA at three different locations and have named their offices as “Finance unit”, “Media unit” & “Production unit”. The company has its corporate unit in MUMBAI. A rough layout is as follows :-
                              
[image: image1.emf]Media Unit
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	Approximate distance between these units are :
	

	
	Production unit to Finance unit
150m
Production unit to Corporate unit

1577KM

Production unit to Media unit

15 KM

Finance unit to Media unit

200m

Admission to Hostel

14 KM


	

	
	Number of computers in each unit are :
	

	
	Production unit 

245

Media unit

15

Corporate unit
26

Finance unit
56

	

	
	(g1) Suggest the type of networking (LAN, MAN, WAN) for connecting each of the following office units :-

· Production unit & Media unit    
· Production unit & Finance unit

(g2) Which one of the following devices will you suggest for connecting all the computers within each of their office units?
· Hub/Switch

· Modem

· Telephone

(g3) Which of the following communication media, will you suggest to be procured by the company for connecting their local office units in MUMBAI for very effective (High Speed) communication ?
· Telephone cable

· Optical fiber

· Ethernet cable

(g4) Suggest a cable/wiring layout for connecting the company’s local office units located in KOLKATA. Also, suggest an effective method/technology for connecting the company’s office unit located in MUMBAI.
	1
1

1

1
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